ME )/LE Auxiliary parts / Miscellaneous

NEVALE
. 034 300 0003
Filter set MAX0132
Notes
References
Mercedes-Benz 00018062 09
004094 1104
541092 09 05
54118000 09
Application info
Mercedes-Benz ACTROS MP2 / MP3 (10/02--)
MEYLE AG - www.meyle.com 1

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/ILE Body/Cabin

NEVALE
2349100001
Door handle MIX0315
Notes
Right
Paired article numbers 2349100002
Black
with key
with lock
References
Iveco 98404709
Application info
Iveco EuroCargo (01/91-12/00)
234910 0002
Door handle MIX0316
Notes
Left
Paired article numbers 2349100001
Black
with key
with lock
References
Iveco 98404710
Application info
Iveco EuroCargo (01/91-12/00)
5349100101
Door handle MIX0317
Notes
Left
Paired article numbers 5349100102
Black
without lock barrel
References
Volvo 20398466
Application info
Volvo FH 12 (08/93--) Volvo FM 12 (08/98-09/05)
Volvo FM (09/05--)
MEYLE AG - www.meyle.com 2

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Body/Cabin

NEALGE N
5349100102
Door handle MIX0318
Notes
Right
Paired article numbers 5349100101
Black
without lock barrel
References
Volvo 20398467
Application info
Volvo FH 12 (08/93--) Volvo FM (09/05--)
Volvo FH 16 (08/93-12/02) Volvo FM 12 (08/98-09/05)
440 160 3840
Hood shock
Notes
Force output F [N] 370
Length [mm] 320
References

Application info
Porsche 911/912 (01/63-11/90)

n 5349100100
Lock cylinder set MIX0314
Notes
References
Volvo 3090483

&

Application info

Volvo FH 12 (08/93--) Volvo FM (09/05--)
Volvo FH 16 (08/93-12/02) Volvo FM 12 (08/98-09/05)
MEYLE AG - www.meyle.com 3

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Body/Cabin

NEALGE N

034 870 0005
MWI0031

Windshield washer pump

Notes

Voltage [V] 24
Electric
Mono Pump

References

EVOBUS 000 86047 26
MAN 81.26485.6029
Mercedes-Benz 000 860 47 26

Application info

MAN F 2000 (01/94-12/95) MAN TGM (10/05--)

MAN L 2000 (10/93-07/97) Mercedes-Benz ACTROS (04/96-10/03)

MAN LION’S COACH (09/95--) Mercedes-Benz ACTROS MP2 / MP3 (10/02--)
MAN LION’S STAR (01/93-09/96) Mercedes-Benz ACTROS MP4 (07/11--)

MAN M 2000 L (08/95--) Mercedes-Benz ATEGO (01/98-10/04)

MAN M 2000 M Mercedes-Benz ATEGO 2 (10/04--)

MAN NU (09/96-07/98) Mercedes-Benz ATEGO 3 (04/13--)

MAN TGA (04/00--) Mercedes-Benz AXOR (01/02-10/04)

MAN TGL (04/05--)

MEYLE AG - www.meyle.com 4

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME)/LE Brakes

NEVALE
. 115521 0028
Brake disc MBD1760
Notes
Front Axle
Bolt Hole Circle @ [mm] 112
Brake Disc Thickness [mm] 24
Centering Diameter [mm] 65
Height [mm] 49,8
Minimum thickness [mm] 21
Number of Holes 5
Outer diameter [mm] 276
Vented
References
Audi 5Q0615301 A
Audi (FAW) 5Q0615301 A
Seat 5Q0615301 A
Skoda 5Q0615301 A
Volkswagen 5Q0615301 A

Application info

Audi A3 (8V1, 8VS, 8V7, 8PA) (04/12--) Skoda Octavia lll (5E3/5E5) (11/12--)
Seat Leon (5F) (09/12--) Volkswagen Golf VII (08/12--)

Multi-circuit protection valve 16-34 04.:3?(2363

Notes

References
RV.L 5010422 971

Application info

MEYLE AG - www.meyle.com 5

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Drive train/Transmission

NEVALE
o q 100137 0011
Hydraulic filter kit, A/T MHKO057
Notes
Manufacturer Restriction ZF
Number of mounting bores 13
Transmission Type AL450
Transmission Type oc™M
Transmission Type 8HP45
Automatic Transmission, 8-speed
Kit
with fastening material P I O S SO R R e
References
Volkswagen 0CM 301519

Application info
Volkswagen Amarok (09/10--)

q q 100 498 0249/S
Insert shaft, differential MDS00eT
Notes
Front Axle
Int. teeth, diff.side, conn.to transm. 37
Length [mm] 297
References
Volkswagen 02G 409 356 C
Application info
Volkswagen Transporter IV (07/90-04/03)
. . . 414 135 0001
Parts kit, automatic transm. oil change MOK0061
Notes
Manufacturer Restriction MERCEDES-BENZ
Transmission Type A96.10
Transmission Type A96.35
Transmission Type A96.50
Transmission Type A97.01
Transmission Type A97.31
Transmission Type A97.50
Automatic Transmission, 5-speed
Kit
with add-on material
References
Porsche 722.277.009.5
Application info
Porsche 911 (996) (09/97-08/05) Porsche 911 (997) (07/04-12/10)
MEYLE AG - www.meyle.com 6

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME)/LE Electrics

New Items
0148000119
ABS wheel sensor VIAS0384
Notes
Rear Axle
Length [mm] 765
Number of Poles 2
Operating voltage [V] 12
Required quantity 2
Active sensor
References
Mercedes-Benz 2215400117

Application info
Mercedes-Benz BM 216 (S-Class) (05/06--) Mercedes-Benz BM 221 (S-Class) (10/05-06/09)

234 533 0006

ABS wheel sensor MAS0390

Notes

Front Axle
Number of Poles 2
Operating voltage [V] 24
Required quantity 2
Resistance [Ohm)] 1150
Inductive Sensor

References
Iveco 41221280

Application info
Iveco Stralis (02/02--) Iveco Trakker (10/04--)

014 8000126

Sensor, exhaust gas temperature MSE0003

Notes

Cable Length [mm] 300
Number of Poles 2

References

Mercedes-Benz 000905 67 04
008 15337 28

Application info

Mercedes-BenzBM 117
Mercedes-Benz BM 166

(CLA) (01/13-) Mercedes-Benz BM 212 (E-Class) (01/09-08/11)
(GL) (07/12--) Mercedes-Benz BM 218 (CLS) (01/11--)
Mercedes-Benz BM 166 (GLS) (11/15--) Mercedes-Benz BM 218 (CLS) (10/12--)
Mercedes-Benz BM 166 (M-Class) (06/11--) Mercedes-Benz BM 221 (S-Class) (10/05-06/09)
Mercedes-Benz BM 176 (A-Class) (06/12--) Mercedes-Benz BM 222 (S-Class) (05/13--)
Mercedes-Benz BM 204 (C-Class) (01/07--) Mercedes-Benz BM 246 (B-Class) (11/11--)
Mercedes-Benz BM 204 (GLK-Class) (06/08-04/11) Mercedes-Benz BM 251 (R-Class) (01/06--)
Mercedes-Benz BM 207 (E-Class) (01/09--) Mercedes-Benz BM GLA-Class (X156) (12/13--)

MEYLE AG - www.meyle.com 7

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Electrics

NEVALE
. . 8348100001
Temperature switch, radiator fan MEX0589
Notes
Number of Poles 2
Operating voltage [V] 24
Spanner Size 10
References
Scania 1757 904
1871772
Application info
Scania P,G,R,T - series (03/04-10/05)
MEYLE AG - www.meyle.com 8

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Air filter

Notes

Height [mm]
Length [mm]
Width [mm]

References

Mercedes-Benz

Application info

Mercedes-Benz ACTROS (04/96-10/03)
Mercedes-Benz ACTROS MP2 / MP3 (10/02--)
Mercedes-Benz ATEGO (01/98-10/04)

Air filter

Notes

Height [mm]
Inner diameter [mm]
Outer diameter [mm]

References

Volvo

Application info

Volvo FH (09/05--)
Volvo FH 12 (08/93--)
Volvo FH 16 (08/93-12/02)

MEYLE AG - www.meyle.com

78

626

564

Filter Insert

004 094 66 04

411
203
332
Filter Insert

21834210

Engine/Cooling/Clutch
New Items

034 321 0021
MAF0690

Mercedes-Benz AXOR 2 (10/04-10/05)
Mercedes-Benz ECONIC (01/98--)

534 041 0004
MAF0570

Volvo FM (09/05--)
Volvo FM 12 (08/98-09/05)
Volvo FMX (04/10--)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Crankshaft seal

Notes

Inner diameter [mm]
Outer diameter [mm)]

References

Audi
Volkswagen

Application info

Audi A1 (8X1, 8XA) (05/10--)

Audi A3 (8V1, 8VS, 8V7, 8PA) (04/12--)
Audi A4 (8W2,8W5 B9) (05/15--)

Audi Q3 (8U) (06/11--)

Seat Alhambra Il (710) (06/10-05/11)
Seat Ibiza V (6J1, 6J5, 6J8) (03/08-06/10)
Seat Leon (5F) (09/12--)

Seat TOLEDO IV (KG3) (07/12--)
Skoda Octavia Ill (5E3/5E5) (11/12--)
Skoda Rapid Il (NH) (07/12--)

Skoda Superb 11 (03/15--)

Skoda Yeti (5L) (05/09--)

Engine mount

Notes

References
BMW

Application info
BMW X3 (E83) (01/04-12/08)

MEYLE AG - www.meyle.com

Engine/Cooling/Clutch
New Items

100103 1015
MMX1512

Transmission End

85

132

Left-hand Twist

PTFE (polytetrafluoroethylene)
Synthetic Material Housing
with mounting sleeve

04E 103 170 A
04E103170A

Volkswagen Beetle (5C1) (04/11--)
Volkswagen Caddy IV (05/15--)
Volkswagen CC (11/11--)

Volkswagen Golf VI (5K1, 517, AJ5) (10/08-11/13)
Volkswagen Golf VII (08/12--)
Volkswagen Jetta IV (162) (04/10--)
Volkswagen Passat (B8) (08/14--)
Volkswagen Polo (6R_) (06/09-05/14)
Volkswagen Scirocco (137) (05/08-05/11)
Volkswagen Sharan (7N) (05/10-05/12)
Volkswagen Tiguan (09/07-08/09)
Volkswagen Touran Il (09/15--)

300 221 2133
MEMO0768

Right Front
Hydro Bearing

2211342129

10

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Expansion tank cap

Notes

Pressure [bar]

References

BMW
Mini

Application info

BMW 1 (F20, F21) (11/10--)

BMW 2 (F45, F46) (09/14--)

BMW 3 (F30, F31) (10/11--)

BMW 3 (F34) (03/13--)

BMW 4 (F32, F33, F36) (07/13--)
BMW 5 (F07) (10/09-12/10)

BMW 5 (F10, F11) (03/10-12/11)
BMW 6 (F12,F13) (11/10-12/12)
BMW 7 (FO1, FO2, FO3, FO4) (06/08--)

Fan blade

Notes

Number of Wings
Outer diameter [mm]

References
RV.IL

Application info
R.V.l. Kerax (06/97-01/01)

Fan blade

Notes

Number of Wings
Outer diameter [mm]

References
RV.L

Application info
R.V.I. Kerax (06/97-01/01)

MEYLE AG - www.meyle.com

Engine/Cooling/Clutch
New Items

314 238 0005
MMX1516

1,4
with seal

17117639024
17117639024

BMW i3 (08/13--)

BMW i8 (03/14--)

BMW X1 (F48) (09/15--)
BMW X5 (E70) (02/07-03/10)
BMW X6 (E71) (05/08--)

Mini Countryman (06/10--)
Mini Mini Il (10/06-07/10)
Mini Mini lll (12/13--)

Mini Paceman (04/12--)

16-34 232 0011
MMX1413

9
680
Plastic

5010514839

16-34 232 0012
MMX1414

9
720
Plastic

5010 269870

R.V.I. Premium (04/96--)

11

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Fuel filter

Notes

Connecting thread
Height [mm]

References

Volvo

Application info
Volvo FH 16 (08/93-12/02)

Gasket set, crankcase

Notes

References
RV.L

Application info
R.V.I. Kerax (06/97-01/01)

Gasket, intake manifold

Notes

References

MAN
Mercedes-Benz
Neoplan

Application info

MAN F 2000 (01/94-12/95)

MAN F 90 (07/86-12/97)

MAN NG

MAN NL

MAN SD (04/74-04/94)

MAN SG (07/76-06/97)

MAN UL (09/89-09/96)
Mercedes-Benz MK (12/87-09/96)
Mercedes-Benz NG (08/73-09/96)
Mercedes-Benz O 303 (10/74-09/92
Mercedes-Benz O 305 (01/69-05/87.
Mercedes-Benz O 307 (04/73-08/87
Mercedes-Benz O 340 (01/91-08/95

MEYLE AG - www.meyle.com

1-14 UNS
191
Screw-on Filter

20782330

5001834579

51.08902.0161
442 14104 80
51.08902.0161

Engine/Cooling/Clutch
New Items

534323 0003
MFF0267

16-34 001 0007
MMX1550

R.V.I. Premium (04/96--)

12-34 001 0007
MMX1564

Mercedes-Benz O 404
Mercedes-Benz O 405
Mercedes-Benz O 407 (03/87-11/01)
Mercedes-Benz O 408 (01/91-12/98)
Mercedes-Benz SK (07/87-09/96)
Neoplan Centroliner

Neoplan Cityliner (04/73-09/93)
Neoplan Jetliner (09/90-09/93)
Neoplan Skyliner (01/79-09/93)
Neoplan Spaceliner (09/90-09/93)
Neoplan Starliner (09/96--)

Neoplan Transliner (12/88-09/93)

12

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Engine/Cooling/Clutch

New Items
100 036 0043
Intake hose, turbo charger MIMX1569
Notes
Lower Left
Rear
References
Audi 3C0 145828K
Seat 3C0 145 828K
Skoda 3C0 145 828K
Volkswagen 3C0145828K
Application info
Audi A3 (8P1, 8PA) (05/03-08/12) Volkswagen Eos (03/06-11/10)
Seat Leon / Toledo / Altea (1P1, 5P2, 5P5) (03/04-05/10) Volkswagen Golf V (1K1, 1K5, 5M1) (10/03-05/09)
Skoda Octavia Il (1Z_) (02/04-12/10) Volkswagen Jetta Ill (1K2) (08/05-10/10)
Skoda Superb 11 (3T) (03/08-11/10) Volkswagen Passat (3C_) (03/05-10/11)
Volkswagen Caddy Il (2KA, 2KB) (03/04-08/10) Volkswagen Touran (1T1, 1T2) (02/03-05/10)

16-14 036 0002

Intake hose, turbo charger MMX1567

Notes

Intercooler
Upper Left

References
Nissan 14463-JD50D

Application info
Nissan Qashqai | (02/07--)

16-34 234 0003

Radiator fan motor MRMO0073

Notes

Number of Wings 9
Outer diameter [mm] 680
Thermic

References
RV.L 5010315 427

Application info
R.V.I. Premium (04/96--)

MEYLE AG - www.meyle.com 13

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Engine/Cooling/Clutch

NEALGE N

019 222 0029

Radiator hose MRH0334

Notes
Right

References
Mercedes-Benz 204501 16 82

Application info

Mercedes-Benz BM 204 (C-Class) (01/07--) Mercedes-Benz BM 218 (CLS) (01/11--)
Mercedes-Benz BM 207 (E-Class) (01/09--) Mercedes-Benz BM 218 (CLS) (10/12--)
Mercedes-Benz BM 212 (E-Class) (01/09-08/11)

Radiator hose 19 "Jaﬁlf'si

Notes

References

Application info
Volkswagen Transporter Il (05/79-07/92)

Thermostat 328 zngzgﬂi

Notes
Opening Temperature [°C] 97

References
BMW 11537549 476

Application info

BMW 1 (E81, E82, E87, E88) (11/03-09/12) BMW 5 (E60, E61) (07/03-08/10)
BMW 3 (E90, E91, E92, E93) (01/05-05/12)

MEYLE AG - www.meyle.com 14

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Engine/Cooling/Clutch

NEALGE N
052017 1030
V-belt MVB0256
Notes
Length [mm] 1030
Width [mm] 17
References

Application info

. 050 005 0915
V-ribbed belt MRB0202
Notes
Length [mm] 915
Number of Ribs 5
References

Application info

MEYLE AG - www.meyle.com 15

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Engine/Cooling/Clutch

NEVALE
11-13 220 0004/HD
Water pump MWP0082HD
Notes
Number of Teeth 19
Quality Sealed with SiC/SiC
for toothed belt drive
with seal
References
Citroén 1201.G9
Fiat 1609417680
Ford 1364 681
Mazda Y601-15-010A
Mini 11517805992
Peugeot 1201.G9
Suzuki 17400-69K00
Volvo 30751971
Application info
Citroén Berlingo | (07/96-12/07) Mazda 2 (DE) (10/07--)
Citroén Berlingo Il (04/08--) Mazda 3 (BK) (06/00-06/09)
Citroén C2 / C3 1/ Pluriel (02/02-09/05) Mazda 3 (BL) (06/09--)
Citroén C311(11/09--) Mini Mini Il (10/06-07/10)
Citroén C3 Picasso (02/09--) Peugeot 1007 (04/05--)
Citroén C4 | / Coupe / Grand Picasso / Picasso / Stufenheck (11/04-12/07) Peugeot 206 (08/98-03/09)
Citroén C4 11/ DS4 (11/09--) Peugeot 207 (02/06-10/08)
Citroén C5 1/ C5 11 (03/01-04/07) Peugeot 3008 (06/09--)
Citroén C5 Il (RD_, TD_) (02/08--) Peugeot 307 (08/00-01/05)
Citroén Jumpy Il (01/07--) Peugeot 308 (09/07--)
Citroén Xsara Picasso (12/99-09/06) Peugeot 407 (05/04-12/09)
Fiat Scudo Il (270) (01/07--) Peugeot 5008 (06/09--)
Ford C-Max | (02/07--) Peugeot Expert Il (01/07--)
Ford C-Max Il (12/10--) Peugeot Partner | (04/96-07/08)
Ford Fiesta V / Fusion (11/01-06/08) Peugeot Partner Il (04/08--)
Ford Fiesta VI (06/08--) Suzuki SX4 (06/06--)
Ford Focus Il (10/03-09/08) Volvo C30 (10/06-12/12)
Ford Focus Ill (07/10--) Volvo S40 11/ V50 (01/04--)
Ford Galaxy Il (05/06--) Volvo S80 11 (03/06--)
Ford Mondeo IV (03/07--) Volvo V70 Il (08/07--)

Ford S-Max (05/06--)

16-13 220 0029

Water pump MWP0563
Notes
for toothed belt drive
with seal
References
Renault 210103314R

Application info

Renault Clio Il / Thalia (02/98-02/10) Renault Twingo | (03/93-08/00)
Renault Kangoo | (08/97-06/10)

MEYLE AG - www.meyle.com 16

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Water pump

Notes

Number of Teeth
Quality

References

Citroén
Ford

Mazda
Peugeot
Toyota

Application info

Citroén C1 (06/05--)

Citroén C2 / C3 1/ Pluriel (02/02-09/05)
Citroén C311(11/09--)

Citroén Nemo (02/08--)

Citroén Xsara (04/97-08/05)

Ford Fiesta V / Fusion (11/01-06/08)
Ford Fiesta VI (06/08--)

Mazda 2 (DE) (10/07--)

Mazda 2 (DY) (02/03--)

MEYLE AG - www.meyle.com

21

Sealed with SiC/SiC
for toothed belt drive
Metal Housing

with seal

1201.G8
1366614
256Q-8591-BA
Y4011-50-10
1201.G8
SU001-00919

Engine/Cooling/Clutch

Peugeot 1007 (04/05--)
Peugeot 107 (06/05--)
Peugeot 206 (08/98-03/09)
Peugeot 207 (02/06-10/08)
Peugeot 208 (03/12--)
Peugeot 307 (08/00-01/05)
Peugeot Bipper (02/08--)
Toyota Aygo (07/05-08/10)

NEALGE N

713 220 0008/HD
MWPO0498HD

17

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Steering

NEALGE N

059 203 0001

P/S hose MHHO076
Notes

for backflow

References
Mercedes-Benz 203 466 73 81

Application info
Mercedes-Benz BM 203 (C-Class) (05/00-06/11)

159 202 0004

P/S hose MHHO080
Notes

for foreflow
References
Audi 3B0 422 887
Skoda 3B0 422 887
Volkswagen 3B0 422 887

Application info

Audi A4 (8D2, 8D5, B5) (11/94-09/01) Skoda Superb | (3U) (12/01-03/08)
Audi A6 (4B, C5) (01/97-01/05) Volkswagen Passat (3B_) (08/96-08/05)

P/S hose 359 20M2H<:|2;1
Notes

for foreflow

References
BMW 32416761486

Application info
BMW 5 (E60, E61) (07/03-08/10)

MEYLE AG - www.meyle.com 18

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Steering

NEALGE N
359 202 0037
P/S hose MHHOO74
Notes
for foreflow

for vehicles with active steering

References
BMW 32416850101

Application info
BMW 1 (E81, E82, E87, E88) (11/03-09/12) BMW 3 (E9O, E91, E92, E93) (01/05-05/12)

359202 0039
P/S hose MHHOOS

Notes

for foreflow

References
Mini 32416754498

Application info
Mini Mini | (06/01-11/07)

359202 0040
P/S hose MHH00S 1

Notes

for foreflow

References
BMW 32416850098

Application info
BMW 5 (E60, E61) (07/03-08/10) BMW 6 (E63, E64) (01/04--)

MEYLE AG - www.meyle.com 19

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Steering

NEALGE N
359 202 0041
P/S hose MHH0092
Notes
for foreflow

for vehicles without active steering

References
BMW 32416850587

Application info
BMW 1 (E81, E82, E87, E88) (11/03-09/12) BMW 3 (E9O, E91, E92, E93) (01/05-05/12)

359202 0043
P/S hose MHH0094

Notes

for foreflow

References
BMW 32416850311

Application info

BMW 5 (F07) (10/09-12/10) BMW 7 (FO1, FO2, FO3, FO4) (06/08--)
BMW 5 (F10, F11) (03/10-12/11)

P/S hose e ZOMZH?S;‘:

Notes

for foreflow

References
BMW 32416799933

Application info

BMW 5 (F07) (10/09-12/10) BMW 6 (F12,F13) (11/10-12/12)
BMW 5 (F10, F11) (03/10-12/11) BMW 7 (FO1, FO2, FO3, FO4) (06/08--)

MEYLE AG - www.meyle.com 20

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Steering

NEALGE N
359 202 0045
P/S hose MHH0096
Notes
for foreflow
References
BMW 32416850748

Application info
BMW 5 (E60, E61) (07/03-08/10) BMW 6 (E63, E64) (01/04--)

359 202 0046
P/S hose MHH0097

Notes

for foreflow
for vehicles with active steering

References
BMW 32416850 100

Application info
BMW 1 (E81, E82, E87, E88) (11/03-09/12) BMW 3 (E90, E91, E92, E93) (01/05-05/12)

359202 0047
P/S hose MHH0058

Notes

for foreflow

References
BMW 32411092982

Application info
BMW 3 (E36) (09/90-08/00) BMW Z3 (E36/7, E36/8) (10/95-06/03)

MEYLE AG - www.meyle.com 21

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Steering

NEALGE N
53-59 202 0005
P/S hose MHHO0107
Notes
for foreflow

References
Land Rover QEH000294

Application info
Land Rover Discovery Ill (07/04-09/09)

53-59 202 0006
P/S hose MHH0108
Notes
for foreflow
References
Land Rover NTC9989

Application info
Land Rover Range Rover | (07/70-07/94)

559 202 0000
P/S hose MHHO0111

Notes

for foreflow

References
Volvo 30645081

Application info

Volvo C/S/V 70 (11/96-10/05) Volvo S80 1(05/98-07/06)
Volvo S60 1 /V70 Il (03/00-04/10) Volvo XC701(11/97-08/07)
MEYLE AG - www.meyle.com 22

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Steering

NEALGE N

Tie rod assembly 14-36 020 0019

MTA0222
Notes
Front Axle
Cone Size [mm] 26
Length [mm] 1522
Pipe @ [mm] 52
Thread Measurement 1 M30x1,5
Thread Measurement 2 M30x1,5
Guide Rod
Nut with lateral notches
with metric thread
References
DAF 1361 155

Application info

DAF 95 XF (01/97-09/02) DAF XF 105 (10/05--)
DAF CF 75 (01/01--) DAF XF 95 (09/02-12/06)
DAF CF 85 (01/01--)

Tie rod end 14-36 020 0027

MTE0739

Notes

Front Axle
Cone Size [mm] 22
Length [mm] 120
Thread Measurement 1 M18x1,5
Thread Measurement 2 M30x1,5

Self-locking

with left-hand thread
References
DAF 1401 942
Application info
DAF LF 45 (01/01--)
MEYLE AG - www.meyle.com 23

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Tierod end

Steering
NEVALE

16-16 020 0001

MTEO0746

Notes

Front Axle Left
Length [mm] 240
Paired article numbers 16-16 020 0002
Thread Measurement 1 12x1,25
Thread Measurement 2 14x1,5
References
Renault 485201502R
Application info
Renault Latitude (07/10--)

g 16-16 020 0002
Tierod end MTE0747
Notes

Front Axle Right
Length [mm] 240
Paired article numbers 16-16 020 0001
Thread Measurement 1 12x1,25
Thread Measurement 2 14x1,5
References
Renault 485202733R
Application info
Renault Latitude (07/10--)

g 16-36 020 0012
Tierod end MTEO740
Notes

Front Axle
Cone Size [mm] 30
Length [mm] 120
Thread Measurement 1 M24x1,5
Thread Measurement 2 M32x1,5
for left-/right-hand traffic
Nut with lateral notches
with right-hand thread
References
Mercedes-Benz 0014607248
RV.. 5001867 774
Application info
R.V.I. Kerax (06/97-01/01) R.V.I. Magnum (09/90-04/06)
MEYLE AG - www.meyle.com 24

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Tierod end

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References
Fiat

Application info
Fiat 500L (09/12--)

Tierod end

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References
Fiat

Application info
Fiat 500L (09/12--)

Tierod end

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References
BMW

Application info
BMW X5 (F15) (11/12-)

MEYLE AG - www.meyle.com

Reinforced Version
Front Axle Left

135

216 020 0014/HD
10x1.5

14x1.5

77366165

Reinforced Version
Front Axle Right
135

216 020 0013/HD
10x1.5

14x1.5

77366166

Front Axle Right
195

316 020 0035/HD
14X1.5

14X1.5

32106858738
32106863 860

BMW X6 (F16) (08/14--)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

Steering
NEVALE

216 020 0013/HD
MTE0748HD

216 020 0014/HD
MTE0749HD

316 020 0034/HD
MTE0744HD

25


http://www.meyle.com

MEYLE

Tierod end

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References
BMW

Application info
BMW X5 (F15) (11/12-)

Tierod end

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Chevrolet
GENERAL MOTORS
Opel

Vauxhall

Application info

Chevrolet Zafira (F75) (07/00-06/05)
Opel Astra G / Zafira A (02/98-12/09)
Vauxhall Astra Mk 1l (09/84-08/93)

MEYLE AG - www.meyle.com

Front Axle Left
195

316 020 0034/HD
14X1.5

14x1.5

32106858736
32106863 858

BMW X6 (F16) (08/14--)

Front Axle Left
Front Axle Right
136

M12x1,5
M14x1,5

93186537
93186537
16 03 542
16 03 542

Steering

NEALGE N

316 020 0035/HD
MTE0745HD

616 020 0023
MTE0736

Vauxhall Astra Mk IV (02/98-08/06)

Vauxhall Zafira Mk | (11/98-08/05)

26

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Axle support bushing
Notes
Front
Rear Axle Left
Rear Axle Right
Height [mm] 77
Inner diameter [mm] 18
Outer diameter [mm)] 77
Hydro Bearing
References
Mercedes-Benz 204 35108 42
Mercedes-Benz (BBDC) 204 351 08 42
Application info

Mercedes-Benz BM 204 (C-Class) (01/07--)
Mercedes-Benz BM 204 (GLK-Class) (06/08-04/11)
Mercedes-Benz BM 207 (E-Class) (01/09--)
Mercedes-Benz BM 212 (E-Class) (01/09-08/11)
Mercedes-Benz BM 218 (CLS) (01/11--)

Axle support bushing
Notes
Rear
Rear Axle Left
Rear Axle Right
Height [mm] 107
Inner diameter [mm] 13
Outer diameter [mm)] 20
References
Mercedes-Benz 204 35002 75

Application info

Mercedes-Benz BM 204 (C-Class) (01/07--)
Mercedes-Benz BM 207 (E-Class) (01/09--)
Mercedes-Benz BM 212 (E-Class) (01/09-08/11)

MEYLE AG - www.meyle.com

Suspension
New Items

014710 0007
MAB0169

Mercedes-Benz BM 231 (SL) (01/12--)

Mercedes-Benz (BBDC) C-CLASS (W204) (03/08-10/09)
Mercedes-Benz (BBDC) E-CLASS (W212) (06/10--)
Mercedes-Benz (BBDC) GLK (X204) (04/12--)

0147100024
MAB0172
Mercedes-Benz BM 218 (CLS) (01/11--)
Mercedes-Benz BM 218 (CLS) (10/12--)
27

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Axle support bushing

Notes

Height [mm]
Inner diameter [mm]
Outer diameter [mm)]

References

Mercedes-Benz

Application info

Mercedes-Benz BM 204
Mercedes-Benz BM 204
Mercedes-Benz BM 205
Mercedes-Benz BM 205

C-Class) (01/07--)

C-Class) (12/13--)
C-Class) (10/15--)

Ball joint

Notes

Cone Size [mm]
Height [mm]

Outer diameter [mm)]
Thread Size

References

Mercedes-Benz
Mercedes-Benz (BBDC)

Application info

Mercedes-Benz BM 211 (E-Class) (03/02-07/09)
Mercedes-Benz BM 215 (S-Class) (03/99-03/06)
Mercedes-Benz BM 219 (CLS) (10/04-12/10)

MEYLE AG - www.meyle.com

GLK-Class) (06/08-04/11)

Suspension
New Items

014710 0027
MABO0175

Front

Rear Axle Left
Rear Axle Right
78

19

86

Hydro Bearing

2053510042

Mercedes-Benz BM 207 (E-Class) (01/09--)
Mercedes-Benz BM 212 (E-Class) (01/09-08/11)
Mercedes-Benz BM 218 (CLS) (01/11--)
Mercedes-Benz BM 253 (GLC) (06/15--)

016 010 0021
MBJ0427

Front Axle Left
Front Axle Right
Lower

Outer

17,3

91,8

41

M14x1,5

with accessories

2113300435
2113300435

Mercedes-Benz BM 220 (S-Class) (10/98-08/05)
Mercedes-Benz BM 230 (SL) (10/01-01/12)
Mercedes-Benz (BBDC) E-CLASS (W211) (11/05--)

28

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Suspension

NEVALE
a0 016 010 0022
Ball joint MBJ0A2E
Notes
Front Axle Left
Front Axle Right
Lower
Thread Size M14x1,5
with accessories
References
Mercedes-Benz 1633300135
Application info
Mercedes-Benz BM 163 (M-Class) (02/98-06/05)
a0 016 010 0023
Ball joint MBJ04%S
Notes
Front Axle Left
Front Axle Right
Lower
Thread Measurement 1 M14x1,5
Thread Measurement 2 M14x1,5
References
Chrysler 5099237AA
5099237AB
Mercedes-Benz 21133003 35
Application info
Chrysler Crossfire (07/03-12/07) Mercedes-Benz BM 210 (E-Class) (06/95-03/03)
Mercedes-Benz BM 170 (SLK) (09/96-04/04) Mercedes-Benz BM 211 (E-Class) (03/02-07/09)
Mercedes-Benz BM 202 (C-Class) (03/93-03/01) Mercedes-Benz BM 220 (S-Class) (10/98-08/05)
Mercedes-Benz BM 208 (CLK) (06/97-07/02)
. . 716 010 0025
Ball joint
MBJ0436
Notes
Front Axle Left
Front Axle Right
Lower
Outer
References
Ford 1417351
Application info
Ford Transit '06 (04/06--)
MEYLE AG - www.meyle.com 29

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Bushing, leaf spring

Notes

Height [mm]
Inner diameter [mm]
Outer diameter [mm]

References

Mercedes-Benz

Application info
Mercedes-Benz * (08/77-04/12)

Control arm

Notes

Paired article numbers

References

Peugeot

Application info
Peugeot 206 (08/98-03/09)

Control arm

Notes

Paired article numbers

References

Peugeot

Application info
Peugeot 206 (08/98-03/09)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

Front Axle
104

24

62

000998 01 42
960323 16 85

Front Axle Right
Lower

11-16 050 0101
Control Arm

Steel

with ball joint

with rubber mounting

352151

3521.C8
3521.R7
3521.R9

Front Axle Left

Lower

11-16 050 0100
Control Arm

Steel

with ball joint

with rubber mounting

3520.G8
3520.V6
3520.v7
3520.W0

Mercedes-Benz ACTROS MP4 (07/11--)

Suspension

NEALGE N

0340320147
MCX0547

11-16 050 0100
MCA1061

11-16 0500101
MCA1062

30


http://www.meyle.com

ME )/LE Suspension

NEALGE N

Control arm 16-16 050 0011

MCA1105

Notes

Rear Axle Left
Paired article numbers 16-16 050 0012

Steel

Trailing Arm

with rubber mounting
References
Dacia 551119305R
Renault 551119305R

Application info
Dacia Duster (04/10--) Renault Duster (06/09--)

Control arm 16-16 050 0012

MCA1106

Notes

Rear Axle Right
Paired article numbers 16-16 050 0011

Steel

Trailing Arm

with rubber mounting
References
Dacia 551107894R
Renault 551107894R

Application info
Dacia Duster (04/10--) Renault Duster (06/09--)

Control arm 36-16 050 0095

MCA1057

Notes

Outer

Rear Axle Left

Upper
Paired article numbers 36-16 050 0096

Aluminium .

Semi-trailing Arm Rl
References
Nissan 55121-JD0O0B
Application info
Nissan Qashgqai | (02/07--) Nissan X-Trail (T31) (03/07--)
Nissan Qashgqai Il (02/14--) Nissan X-Trail (T32) (12/13--)
MEYLE AG - www.meyle.com 31

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Suspension

NEALGE N

Control arm 36-16 050 0096

MCA1058

Notes

Outer

Rear Axle Right

Upper
Paired article numbers 36-16 050 0095

Aluminium &

Semi-trailing Arm -
References
Nissan 55120JD00B

Application info

Nissan Qashgqai | (02/07--) Nissan X-Trail (T31) (03/07--)
Nissan Qashgai Il (02/14--) Nissan X-Trail (T32) (12/13--)
416 050 0000/S

Control arm MCA1097
Notes

Front Axle Left

Front Axle Right P

Aluminium

Control Arm

not adjustable

with add-on material

with ball joint

with rubber mounting
References
Porsche 996 341 053 16
Application info
Porsche 911 (996) (09/97-08/05) Porsche Boxster (986) (09/96-12/04)
MEYLE AG - www.meyle.com 32

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Control arm set

Notes

References
Audi

Application info

Audi A4 (8K2, 8K5, 8KH) (11/07--)
Audi A5 (8F, 8T) (06/07--)

Mount, axle rod

Notes

Height [mm]
Inner diameter [mm]
Outer diameter [mm]

References

Mercedes-Benz

Application info

Mercedes-Benz BM 169 (A-Class) (09/04-06/12)

Mount, leaf spring

Notes

References

Mercedes-Benz

Application info

Mercedes-Benz BM 906 (Sprinter 1) (06/06--)

MEYLE AG - www.meyle.com

Full Set

Reinforced Version
Front Axle Left

Front Axle Right
with add-on material

8K0407 151 C
8K0407 152 C
8K0 407 505 A
8K0 407 506 A
8K0 407 509 A
8K0407 510 A
8K0407 693 S
8K0 407 694 S

inner

Outer

Rear Axle Left
Rear Axle Right
38

12

40

16935100 25

Rear Axle Left
Rear Axle Right
Rubber-metal Bearing

906 320 00 63

Suspension

NEALGE N

116 050 0223/HD
MCKO051HD

Audi Q5 (8R) (11/08--)

014710 0029
MAMO0037

Mercedes-Benz BM 245 (B-Class) (03/05-11/11)

0147100030
MCX0545

Mercedes-Benz BM 909 (Sprinter) (09/13--)

33

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Mount, stabilizer

Notes

Inner diameter [mm]

References

Renault

Application info
Renault Mégane | / Scénic | (01/96-09/03)

Repair kit, strut mount

Notes

References

Seat
Volkswagen

Application info
Seat Alhambra Il (710) (06/10-05/11)

Repair kit, strut mount

Notes

References

Porsche

Application info

Porsche 911 (997) (07/04-12/10)
Porsche Boxster (987) (11/04-12/11)

MEYLE AG - www.meyle.com

Suspension
New Items

16-14615 0014
MSB0368

Front Axle Left
Front Axle Right
22

8200150759

100412 2011/S
MCX0529

Front Axle left and right
with ball bearing

7N0 412 331
7N0 412 331

Volkswagen Sharan (7N) (05/10-05/12)

414412 1001/S

MCX0543
Front Axle left and right
Piece
Rubber-metal Bearing
with ball bearing
997 343018 01

Porsche Cayman (11/05--)
34

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/ILE Suspension

New Items
q 116 0350017
Rod/strut, suspension MSR0134
Notes
Rear Axle Left
Rear Axle Right
Length [mm] 282
Guide Rod
References
Audi 8K0 501 529L
Porsche 8K0 501529 L
Application info
Audi A4 (8K2, 8K5, 8KH) (11/07--) Audi A8 (4H_) (11/09--)
Audi A5 (8F, 8T) (06/07--) Audi Q5 (8R) (11/08--)
Audi A6 (4G2, 4G5, C7) (11/10-05/13) Porsche Macan (02/14--)
Audi A7 Sportback (4GA) (10/10--)
. 100412 0033
Rubber stop, suspension MRS0204
Notes
Front Axle
Height [mm] 85
for vehicles without off-road suspension
for vehicles without sports suspension
Piece
References
Audi 8D0412131F
Audi (FAW) 8D0412131F
Seat 8D0412131F
Skoda 8D0412131F
Volkswagen 8D0412131F
Volkswagen (SVW) 8D0412131F
Application info
Audi A4 (8D2, 8D5, B5) (11/94-09/01) Audi (FAW) A4 (B6) (02/03-07/05)
Audi A4 (8E2, 8E5, B6) (10/00-12/04) Audi (FAW) A4 (B7) (07/05-09/08)
Audi A4 (8EC, 8ED) (11/04-06/08) Audi (FAW) A6L (C5) (09/99-12/05)
Audi A4 (8H7) (04/02-03/09) Audi (FAW) A6L (C6) (03/05-12/11)
Audi A6 (4B, C5) (01/97-01/05) Seat Exeo (3R) (12/08-09/10)
Audi A6 (4F2, 4FH, 4F5) (05/04-08/11) Skoda Superb | (3U) (12/01-03/08)
Audi A8 (4D2, 4D8) (03/94-09/02) Volkswagen Passat (3B_) (08/96-08/05)
Audi A8 (4E) (10/02-07/10) Volkswagen (SVW) Passat (B5) (04/00-04/09)
MEYLE AG - www.meyle.com 35

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Shock absorber

Notes

References

Peugeot

Application info
Peugeot 407 (05/04-12/09)

Shock absorber
Notes

Housing Diameter [mm]

References

Citroén
Fiat
Peugeot

Application info

Citroén Jumper Ill (04/06--)
Fiat Ducato (250) (07/06--)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Mercedes-Benz

Application info

Mercedes-Benz BM 203 (C-Class) (05/00-06/11)

MEYLE AG - www.meyle.com

Rear Axle
Bottom eye
Gas Pressure
Top pin
Twin-Tube

5206.FG

Front Axle

25

Gas Pressure
Suspension Strut
Twin-Tube

5208.L5
50708439
5208.L5

Front Axle Left

Front Axle Right

276

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

203 32028 89

Suspension
New Items

11-26 725 0002
MSA0709

226 623 0017
MSA0707

Peugeot Boxer Il (04/06--)

016 060 0067
MSL0710

Mercedes-Benz BM 209 (CLK) (06/02-03/10)

36

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Mercedes-Benz

Application info

Mercedes-Benz BM 168 (A-Class) (07/97-08/04)

Stabilizer link

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

Mercedes-Benz

Application info
Mercedes-Benz BM 204 (C-Class) (01/07--)

Stabilizer link
Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

Mercedes-Benz

Application info
Mercedes-Benz BM 204 (C-Class) (01/07--)

MEYLE AG - www.meyle.com

Front Axle Left

Front Axle Right

220

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

16832011 89

Front Axle Left

307

016 060 0084

M12x1,5

M12x1,5

Coupling Rod

with spanner attachment

20432017 89

Front Axle Right

307

016 060 0083

M12x1,5

M12x1,5

Coupling Rod

with spanner attachment

2043201889

Suspension
New Items

016 060 0068
MSLO711

016 060 0083
MSL0725

Mercedes-Benz BM 207 (E-Class) (01/09--)

016 060 0084
MSL0726

Mercedes-Benz BM 207 (E-Class) (01/09--)

37

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

Mercedes-Benz
Mercedes-Benz (BBDC)

Application info

Mercedes-Benz BM 212 (E-Class) (01/09-08/11)
Mercedes-Benz BM 218 (CLS) (01/11--)

Stabilizer link

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

Mercedes-Benz

Application info

Mercedes-Benz BM 212 (E-Class) (01/09-08/11)
Mercedes-Benz BM 218 (CLS) (01/11--)

MEYLE AG - www.meyle.com

Front Axle Left

326

016 060 0086

M12x1,5

M12x1,5

Coupling Rod

with spanner attachment

2123201189
2123201189

Front Axle Right

326

016 060 0085

M12x1,5

M12x1,5

Coupling Rod

with spanner attachment

2123201289

Suspension
New Items

016 060 0085
MSL0727

Mercedes-Benz BM 218 (CLS) (10/12--)
Mercedes-Benz (BBDC) E-CLASS (W212) (06/10--)

016 060 0086
MSL0728

Mercedes-Benz BM 218 (CLS) (10/12--)

38

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Mercedes-Benz
Mercedes-Benz (BBDC)

Application info

Mercedes-Benz BM 117 (CLA) (01/13--)
Mercedes-Benz BM 176 (A-Class) (06/12--)
Mercedes-Benz BM 246 (B-Class) (11/11--)

Stabilizer link
Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

Mercedes-Benz

Application info

Front Axle Left

Front Axle Right

332

M12x1,5

M12x1,5

Coupling Rod

with spanner attachment

246 320 06 89
246 320 06 89

Front Axle Left

230

036 060 0020

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

638323 04 68

Mercedes-Benz BM 638 (V-Class / Vito) (02/96-07/03)

MEYLE AG - www.meyle.com

Suspension
New Items

016 060 0089
MSL0731

Mercedes-Benz BM GLA-Class (X156) (12/13--)
Mercedes-Benz (BBDC) GLA-CLASS (X156) (04/15--)

036 060 0019
MSL0732

Mercedes-Benz BM 639 (Vito / Viano) (09/03-07/08)

39

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

Mercedes-Benz

Application info

Front Axle Right

230

036 060 0019

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

6383230568

Mercedes-Benz BM 638 (V-Class / Vito) (02/96-07/03)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Citroén
Peugeot

Application info

Citroén C2 / C3 1/ Pluriel (02/02-09/05)
Citroén C4 Cactus (09/14--)
Peugeot 1007 (04/05--)

MEYLE AG - www.meyle.com

Front Axle Left

Front Axle Right

335

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

5087.59
5087.59

Suspension
New Items

036 060 0020
MSL0733

Mercedes-Benz BM 639 (Vito / Viano) (09/03-07/08)

11-16 060 0026
MSL0737

Peugeot 2008 (03/13--)
Peugeot 206 (08/98-03/09)

40

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Suspension

NEALGE N

11-16 060 0028

Stabilizer link MSLO738
Notes
Front Axle Left
Front Axle Right
Length [mm] 335
Thread Measurement 1 M10x1,5
Thread Measurement 2 M10x1,5
Coupling Rod
with spanner attachment
References
Citroén 5087.57
Peugeot 5087.57
Application info
Citroén Berlingo | (07/96-12/07) Peugeot 3008 (06/09--)
Citroén Berlingo Il (04/08--) Peugeot 308 (09/07--)
Citroén C4 | / Coupe / Grand Picasso / Picasso / Stufenheck (11/04-12/07) Peugeot 5008 (06/09--)
Citroén C4 11/ DS4 (11/09--) Peugeot Partner Il (04/08--)
Citroén DS5 (11/11--) Peugeot RCZ (03/10--)
ore . 11-16 060 0029
Stabilizer link MSLo739
Notes
Front Axle Left
Front Axle Right
Length [mm] 335
Thread Measurement 1 M10x1,5
Thread Measurement 2 M10x1,5
Coupling Rod
with spanner attachment
References
Citroén 5087.71
Peugeot 5087.71
Application info
Citroén C311(11/09--) Peugeot 208 (03/12--)
Citroén DS3 (11/09--)
MEYLE AG - www.meyle.com 41

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Citroén
Fiat
Lancia
Peugeot

Application info

Citroén C8 (07/02--)
Fiat Ulysse Il (179) (08/02-06/11)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Citroén
Peugeot

Application info

Citroén C5 11l (RD_, TD_) (02/08--)
Citroén C6 (09/05--)

MEYLE AG - www.meyle.com

Front Axle Left

Front Axle Right

263

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

5087.51
1331209080
1331209080
5087.51

Rear Axle Left

Rear Axle Right

141

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

5178.46
5178.52

Suspension
New Items

11-16 060 0032
MSL0742

Lancia Phedra (09/02-11/10)
Peugeot 807 (06/02-05/06)

11-16 060 0033
MSL0743

Peugeot 407 (05/04-12/09)
Peugeot 508 (11/10--)

42

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

Citroén

Peugeot

Application info

Citroén C Elyse (11/12--)
Citroén C3 Picasso (02/09--)
Peugeot 207 (02/06-10/08)

Stabilizer link

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

Citroén

Peugeot

Application info

Citroén C Elyse (11/12--)
Citroén C3 Picasso (02/09--)
Peugeot 207 (02/06-10/08)

MEYLE AG - www.meyle.com

Front Axle Right

330

11-16 060 0035

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

16073 268 80
5087.68
16 073 268 80
5087.68

Front Axle Left

330

11-16 060 0034

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

16073 269 80
5087.69
16 073 269 80
5087.69

Suspension

NEALGE N

11-16 060 0034
MSL0744

Peugeot 208 (03/12--)
Peugeot 301 (11/12--)

11-16 060 0035
MSL0745

Peugeot 208 (03/12--)
Peugeot 301 (11/12--)

43

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Citroén
Peugeot

Application info

Citroén C51/C511(03/01-04/07)
Citroén Xantia (03/93-04/03)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Citroén

CITROEN (DF-PSA)
Peugeot

Application info

Citroén Berlingo | (07/96-12/07)
Citroén Xsara (04/97-08/05)

Citroén Xsara Picasso (12/99-09/06)

Citroén ZX (03/91-02/98)

MEYLE AG - www.meyle.com

Suspension
New Items

11-16 060 0039
MSL0749

Front Axle Left

Front Axle Right

300

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

5087.48
5087.48

Peugeot 607 (02/00-07/04)

11-16 060 0040
MSL0750

Front Axle Left

Front Axle Right

300

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

5087.42
5087.61
5087.61
5087.42
5087.61

CITROEN (DF-PSA) Picasso (N68) (09/01-03/07)
Peugeot 306 (04/93-04/02)
Peugeot Partner | (04/96-07/08)

44

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Suspension

NEVALE
ara q 116 060 0041/S
Stabilizer link MSL0910
Notes
Front Axle Left
Front Axle Right
Aluminium
Coupling Rod
with accessories
References
Audi 4M0 411 317
4H0 411317 C
8K0411317D
Audi (FAW) 8K0411317D
Application info
Audi A4 (8K2, 8K5, 8KH) (11/07--) Audi A8 (4H_) (11/09--)
Audi A4 (8W2,8W5 B9) (05/15--) Audi Q5 (8R) (11/08--)
Audi A5 (8F, 8T) (06/07--) Audi Q7 (4M) (06/15--)
Audi A6 (4G2, 4G5, C7) (11/10-05/13) Porsche Macan (02/14--)

Audi A7 Sportback (4GA) (10/10--)

MEYLE AG - www.meyle.com 45

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
Audi

Seat
Skoda

Skoda (SVW)
Volkswagen

Volkswagen (FAW)
Volkswagen (SVW)

Application info

Audi A1 (8X1, 8XA) (05/10--)

Audi A2 (8Z0) (02/00-08/05)

Seat Ibiza IV / Cordoba (02/02-11/09)
Seat lbiza V (6J1, 6J5, 6J8) (03/08-06/10)
Seat Mii (10/11--)

Seat TOLEDO IV (KG3) (07/12--)
Skoda Citigo (10/11--)

Skoda Fabia | (08/99-03/08)

Skoda Fabia Il (12/06--)

Skoda Fabia Ill (08/14--)

Skoda Rapid Il (NH) (07/12--)

Skoda Roomster (03/06-03/10)
Skoda (SVW) Fabia (12/08--)

MEYLE AG - www.meyle.com

Front Axle Left

Front Axle Right

270

M10x1,5
M10x1,5
Coupling Rod

with spanner attachment

6Q0411315F
6Q0411315G
6Q0411315N
6Q0411315Q
6R0 411315

6Q0411315N
6R0 411315

6R0411315A
6Q0411315N
6R0 411315

6R0411315A
6R0411315A
6Q0411315N
6Q0411315P
6Q0411315Q
6R0 411315

6R0411315A
6Q0411315N
6Q0411315N

Suspension
New Items

116 060 0045
MSL0751

Skoda (SVW) Fabia (NJ) (04/15--)

Skoda (SVW) Rapid (Na2) (04/13--)
Volkswagen Fox/Lupo Z51 (10/03--)
Volkswagen Load Up (12/14--)
Volkswagen Polo (6R_) (06/09-05/14)
Volkswagen Polo (9N_) (10/01-11/09)
Volkswagen Spacefox (526, 527)
Volkswagen UP (12/11--)

Volkswagen (FAW) Jetta Night (03/13--)
Volkswagen (SVW) New Polo (06/06-03/12)
Volkswagen (SVW) Polo (01/02-03/06)
Volkswagen (SVW) Polo Sporty (12/10--)
Volkswagen (SVW) Santana Il (12/12--)

46

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
GENERAL MOTORS

Nissan
Opel

Renault
Vauxhall

Application info

Nissan Primastar (03/01--)

Opel Vivaro (08/01--)

Renault Clio lll / Modus (09/04-08/10)
Renault Espace IV (11/02-02/05)

Stabilizer link
Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

Renault

Application info
Renault Twingo | (03/93-08/00)

MEYLE AG - www.meyle.com

Front Axle Left

Front Axle Right

280

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

91167000
93858917
54616-00QAC
44 08 904
4417 973
8200661217
44 08 904
4417 973

Front Axle Right

255

16-16 060 0017

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

8200050191
8200714448

Suspension
New Items

16-16 060 0015
MSL0765

Renault Laguna Il (03/01-09/07)
Renault Trafic Il (03/01-07/03)
Renault Vel Satis (06/02--)
Vauxhall Vivaro (08/01-12/06)

16-16 060 0016
MSL0766

47

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Suspension
New Items

16-16 060 0017

Stabilizer link MSLo767
Notes
Front Axle Left
Length [mm] 255
Paired article numbers 16-16 060 0016
Thread Measurement 1 M10x1,5
Thread Measurement 2 M10x1,5
Coupling Rod
with spanner attachment
References
Renault 8200040618
Application info
Renault Twingo | (03/93-08/00)

e: . 16-16 060 0018
Stabilizer link MSLO768
Notes

Front Axle Left

Front Axle Right
Length [mm] 287
Thread Measurement 1 M10x1,5
Thread Measurement 2 M10x1,5

Coupling Rod

with spanner attachment
References
Renault 8200166159

8200669065
Application info
Renault Kangoo Il (02/08--) Renault Scénic Il (06/03-04/09)
Renault Mégane Il (11/02-01/11)

e: . 16-16 060 0019
Stabilizer link MSLo760
Notes

Front Axle Left
Front Axle Right
Length [mm] 257
Thread Measurement 1 M10x1,5
Thread Measurement 2 M10x1,5
Coupling Rod
with spanner attachment
References
Renault 7700437136
Application info
Renault Kangoo | (08/97-06/10) Renault Mégane | / Scénic | (01/96-09/03)
MEYLE AG - www.meyle.com 48

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Fiat
Ford
Lancia

Application info

Fiat 500 (10/07--)

Fiat Bravo (198) (11/06-12/08)
Fiat Panda Il (02/12--)

Fiat Stilo (10/01-08/08)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
Citroén
Fiat

Peugeot

Application info

Citroén Nemo (02/08--)
Fiat Fiorino Nuovo (11/07--)
Fiat Linea (06/07--)

MEYLE AG - www.meyle.com

Front Axle Left

Front Axle Right

290

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

51801136
1580517
50700464
50700941
51795269
51801136

Front Axle Left

Front Axle Right

290

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

5087.70
51815479
51815480
5087.70

Suspension
NEVALE
216 060 0031
MSL0771
Ford KA Il (10/08--)
Lancia Delta Il (08/08--)
Lancia Ypsilon (843) (10/03-12/11)
Lancia Ypsilon (846) (05/11--)
216 060 0033
MSL0773
Fiat Qubo (02/08--)
Peugeot Bipper (02/08--)
49

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Fiat
Lancia

Application info

Fiat Marea / Multipla (09/96-06/10)
Lancia Dedra (04/89-07/99)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
Fiat

Application info
Fiat Panda Il (09/03--)

MEYLE AG - www.meyle.com

Front Axle Left

Front Axle Right

275

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

46413122
51701045

Rear Axle Left

Rear Axle Right

80

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

51856959

Suspension
New Items

216 060 0034
MSL0774

Lancia Lybra (07/99-10/05)

216 060 0035
MSL0775

50

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Fiat
Opel
Vauxhall

Application info

Fiat Doblo (263) (02/10--)
Opel Combo D (02/12--)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Alfa Romeo
Fiat

Lancia

Application info

Alfa Romeo Giulietta (940) (04/10--)

Alfa Romeo Mito (09/08--)
Fiat 500L (09/12--)

MEYLE AG - www.meyle.com

Front Axle Left

Front Axle Right

300

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

51898527
95511247
95511247

Front Axle Left

Front Axle Right

301

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

51805870
50515276
55700753
50515276

Suspension
NEVALE
216 060 0036
MSL0776
Vauxhall Combo Mk Il (07/06--)
216 060 0037
MSL0777
Fiat Grande Punto (10/05-07/12)
Fiat Punto Evo (07/08-03/12)
Fiat Punto Ill (03/12--)
51

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Chevrolet
Daewoo

Application info

Chevrolet Astro |

Chevrolet Aveo | (05/05-12/07)
Chevrolet Kalos (03/05-05/08)
Chevrolet Rezzo (03/05--)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Chevrolet

Application info

Chevrolet Spark (M300) (03/10--)

MEYLE AG - www.meyle.com

Front Axle Left

Front Axle Right

261

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

96391875
96391875

Daewoo Kalos (09/02-04/05)
Daewoo Lacetti (04/97-12/04)
Daewoo Nubira (KLAJ) (04/97-07/03)

Daewoo Rezzo (09/00-12/04)

Reinforced Version

Front Axle Left

Front Axle Right

235

M10x1,25

M10x1,25

Coupling Rod

with spanner attachment

95947829

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

Suspension
New Items

29-16 060 0015
MSL0782

29-16 060 0016/HD
MSL0908HD

52


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
Toyota

Application info

Toyota Celica (ZZT23) (08/99-09/05)
Toyota Corolla (E12) (03/01-07/07)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
Toyota

Application info
Toyota Avensis (T22) (09/97-02/03)

Stabilizer link

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References
Toyota

Application info

Toyota Avensis (T22) (09/97-02/03)
Toyota Carina (T19) (04/92-09/97)

MEYLE AG - www.meyle.com

Front Axle Left

Front Axle Right

285

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

48820-32010
48820-42020

Rear Axle Left

Rear Axle Right

141

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

48830-05020

Front Axle Left

71

30-16 060 0078

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

48810-44010

Suspension
New Items

30-16 060 0073
MSL0783

Toyota RAV 4 1l (06/00-11/05)

30-16 060 0074
MSL0784

30-16 060 0077
MSL0787

Toyota Corona (T190) (02/92-09/97)
Toyota Picnic (05/96-01/03)

53

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References
Toyota

Application info

Toyota Avensis (T22) (09/97-02/03)
Toyota Carina (T19) (04/92-09/97)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
Honda

Application info
Honda Accord VIII (02/03-12/08)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

BMW
BMW (Brilliance)

Application info

BMW 3 (E46) (02/98-12/07)
BMW Z4 (E85) (02/03--)

MEYLE AG - www.meyle.com

Front Axle Right

71

30-16 060 0077

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

48820-44010

Left

Right

125

M10x1,5
M10x1,5
Coupling Rod

52320-SED-003

Front Axle Left

Front Axle Right

270

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

31356780847
31356780847

Suspension
New Items

30-16 060 0078
MSL0788

Toyota Corona (T190) (02/92-09/97)
Toyota Picnic (05/96-01/03)

31-16 060 0062

MSL0796
316 060 0062
MSL0807
BMW Z4 (E86) (03/06--)
BMW (Brilliance) 3 Series (E46) (07/03-06/05)
54

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References
BMW

Application info
BMW 3 (E46) (02/98-12/07)

Stabilizer link

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

BMW
BMW (Brilliance)

Application info

BMW 1 (E81, E82, E87, E88) (11/03-09/12)
BMW 3 (E90, E91, E92, E93) (01/05-05/12)
BMW X1 (E84) (03/09--)

MEYLE AG - www.meyle.com

Front Axle Right

308

316 060 0069

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

31356751080

Front Axle Right

290

316 060 0075

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

31356765934
31356765934

Suspension
New Items

316 060 0070
MSL0815

316 060 0074
MSL0819

BMW Z4 (E89) (05/09--)
BMW (Brilliance) 3 Series (E90) (01/05-09/12)
BMW (Brilliance) X1 (E84) (03/12--)

55

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

BMW
BMW (Brilliance)

Application info

BMW 3 (E90, E91, E92, E93) (01/05-05/12)
BMW X1 (E84) (03/09--)

Stabilizer link

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

BMW
BMW (Brilliance)

Application info

BMW 3 (E90, E91, E92, E93) (01/05-05/12)
BMW X1 (E84) (03/09--)

MEYLE AG - www.meyle.com

Front Axle Left

340

316 060 0080

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

31356768771
31356768771

Front Axle Right

340

316 060 0079

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

31356768772
31356768772

Suspension
New Items

316 060 0079
MSL0824

BMW (Brilliance) X1 (E84) (03/12--)

316 060 0080
MSL0825

BMW (Brilliance) X1 (E84) (03/12--)

56

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
BMW

Application info

BMW 3 (E30) (09/82-06/94
BMW 3 (E36) (09/90-08/00
BMW 5 (E28) (06/81-12/87
BMW 5 (E34) (12/87-01/97

Stabilizer link

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

BMW

Application info
BMW 5 (E39) (11/95-05/04)

MEYLE AG - www.meyle.com

Front Axle Left

Front Axle Right

240

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

31351134582

Front Axle Left

240

316 060 0086

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

31351095661

Suspension
New Items

316 060 0084
MSL0829

BMW 6 (E24) (04/76-09/90)
BMW 7 (E32) (09/86-09/94)
BMW 8 (E31) (04/90-12/99)

316 060 0085
MSL0830

57

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References
BMW

Application info
BMW 5 (E39) (11/95-05/04)

Stabilizer link

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References
BMW

Application info
BMW X3 (F25) (09/10--)

Stabilizer link

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

BMW

Application info
BMW X3 (F25) (09/10--)

MEYLE AG - www.meyle.com

Front Axle Right

240

316 060 0085

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

31351095662

Front Axle Right

340

316 060 0089

M12x1,5

M12x1,5

Coupling Rod

with spanner attachment

31306787 164

Front Axle Left

340

316 060 0088

M12x1,5

M12x1,5

Coupling Rod

with spanner attachment

31306787163

Suspension
New Items

316 060 0086
MSL0831

316 060 0088
MSL0833

BMW X4 (F26) (04/14--)

316 060 0089
MSL0834

BMW X4 (F26) (04/14--)

58

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

BMW
BMW (Brilliance)

Application info

BMW 1 (F20, F21) (11/10--)
BMW 2 (F22,F23) (10/13--)
BMW 3 (F30, F31) (10/11--)

Stabilizer link

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

BMW
BMW (Brilliance)

Application info

BMW 1 (F20, F21) (11/10--)
BMW 2 (F22,F23) (10/13--)
BMW 3 (F30, F31) (10/11--)

MEYLE AG - www.meyle.com

Front Axle

310

316 060 0091

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

31306792211
31306792211

Front Axle

310

316 060 0090

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

31306792212
31306792212

Suspension
NEVALE
316 060 0090
MSL0835
BMW 3 (F34) (03/13--)
BMW 4 (F32, F33, F36) (07/13--)
BMW (Brilliance) 3 Series (F30) (07/12--)
316 060 0091
MSL0836
BMW 3 (F34) (03/13--)
BMW 4 (F32, F33, F36) (07/13--)
BMW (Brilliance) 3 Series (F30) (07/12--)
59

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

BMW
Mini

Application info

BMW 2 (F45, F46) (09/14--)
BMW X1 (F48) (09/15--)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Ford
Mazda

Application info
Ford Maverick Il (02/01--)

Mazda 323 (BA) (05/94-09/98)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

Reinforced Version

Front Axle Left

Front Axle Right

320

M10x15

M10X15

Coupling Rod

with spanner attachment

31306862 864
31306862 864

250

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

4462153
BC1D-28-170A
EC01-34-150A

Mini Mini Il (12/13--)

Mazda Tribute | (03/00-05/08)

Suspension

NEALGE N

316 060 0092/HD
MSL0909HD

35-16 060 0042
MSL0853

60


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Nissan
Renault

Application info

Nissan Micra (K12) (01/03-06/10)
Nissan Note (03/06--)

Nissan NV200 (02/10--)

Nissan Tida (01/07--)

Nissan Tiida (C11) (05/04-02/07)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Dacia
Volvo

Application info

Dacia Duster (04/10--)
Renault Duster (06/09--)
Volvo 850 (06/91-10/97)

MEYLE AG - www.meyle.com

Front Axle Left

Front Axle Right

250

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

54618-BC40A
8200605381
8201079463

Short Version

302

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

8200814411
30714686

Suspension
New Items

36-16 060 0060

MSL0859
Renault Captur (06/13--)
Renault Clio lll / Modus (09/04-08/10)
Renault Clio IV (11/12--)
Renault Zoe (06/12--)
516 060 0017
MSL0868
Volvo C/S/V 70 (11/96-10/05)
Volvo XC701(11/97-08/07)
61

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Volvo

Application info

Volvo 940/ 960/ S/V 90 (07/94-12/98)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Land Rover

Application info

Land Rover Range Rover Il (07/94-03/02)

MEYLE AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

Front Axle Left

Front Axle Right

243

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

9492837

Front Axle Left

Front Axle Right

100

M12x1,5

M12X1,5

Coupling Rod

with spanner attachment

ANR3304

Suspension

NEALGE N

516 060 0021
MSL0872

53-16 060 0020
MSL0873

62


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Cone Size [mm]
Length [mm]

Pipe @ [mm]

Thread Measurement 1
Thread Measurement 2

References

Volvo

Application info

Volvo FH 12 (08/93--)
Volvo FM 12 (08/98-09/05)

Stabilizer link

Notes

Cone Size [mm)]
Length [mm]

Pipe @ [mm]

Thread Measurement 1
Thread Measurement 2

References

Volvo

Application info

Volvo FH (09/05--)
Volvo FH 12 (08/93--)
Volvo FH 16 (08/93-12/02)

MEYLE AG - www.meyle.com

Reinforced Version
Replace in pairs only
Rear Axle

28,6

435

40

M20X1,5

M20X1,5

Coupling Rod

for vehicles with standard chassis
Steel

3987354

Volvo FM 7 (08/98-12/01)

Reinforced Version
Replace in pairs only
Rear Axle

28,6

435

40

M22X1,5

M22X1,5

Coupling Rod

for vehicles with standard chassis
Steel

20443061

Volvo FM (09/05--)
Volvo FM 12 (08/98-09/05)
Volvo FM 9 (12/01-09/05)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

Suspension

NEALGE N

534035 0001/HD
MSL0900HD

534035 0002/HD
MSL0901HD

63


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Cone Size [mm)]
Length [mm]

Pipe @ [mm]

Thread Measurement 1
Thread Measurement 2

References

Volvo

Application info

Volvo FH 12 (08/93--)
Volvo FL 6 (09/85-03/00)

Stabilizer link

Notes

Cone Size [mm)]
Length [mm]

Pipe @ [mm]

Thread Measurement 1
Thread Measurement 2

References

Volvo

Application info

Volvo FH (09/05--)
Volvo FH 12 (08/93--)
Volvo FH 16 (08/93-12/02)

MEYLE AG - www.meyle.com

Reinforced Version
Replace in pairs only
Short Version

Rear Axle

28,6

380

40

M20X1,5

M20X1,5

Coupling Rod
Steel

3173914

Volvo FM 12 (08/98-09/05)
Volvo FM 7 (08/98-12/01)

Reinforced Version
Replace in pairs only
Rear Axle

28,6

380

40

M22X1,5

M22X1,5

Coupling Rod

Steel

20994419

Volvo FL 6 (09/85-03/00)
Volvo FM (09/05--)
Volvo FM 12 (08/98-09/05)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

Suspension

NEALGE N

534035 0003/HD
MSL0902HD

534 035 0004/HD
MSL0903HD

64


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Cone Size [mm]
Length [mm]

Pipe @ [mm]

Thread Measurement 1
Thread Measurement 2

References

Volvo

Application info

Volvo 8700 (01/99--)
Volvo FH (09/05--)
Volvo FH 12 (08/93--)

Stabilizer link

Notes

Cone Size [mm)]
Length [mm]

Pipe @ [mm]

Thread Measurement 1
Thread Measurement 2

References

Volvo

Application info

Volvo FH (09/05--)
Volvo FH 12 (08/93--)
Volvo FH 16 (08/93-12/02)

MEYLE AG - www.meyle.com

Reinforced Version
Replace in pairs only
Rear Axle

28,6

350

40

M22X1,5

M22X1,5

Coupling Rod

Steel

20443063

Volvo FH 16 (08/93-12/02)
Volvo FM (09/05--)
Volvo FM 12 (08/98-09/05)

Reinforced Version
Replace in pairs only
Rear Axle

32

435

40

M24X1,5

M24X1,5

Coupling Rod

Steel

21287061

Volvo FM (09/05--)
Volvo FM 9 (12/01-09/05)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

Suspension

NEALGE N

534035 0005/HD
MSL0904HD

534035 0006/HD
MSLO0905HD

65


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Cone Size [mm]
Length [mm]

Pipe @ [mm]

Thread Measurement 1
Thread Measurement 2

References

Volvo

Application info

Volvo FH 12 (08/93--)
Volvo FH 16 (08/93-12/02)

Stabilizer link

Notes

Cone Size [mm]
Length [mm]

Pipe @ [mm]

Thread Measurement 1
Thread Measurement 2

References

Volvo

Application info

Volvo FH 12 (08/93--)
Volvo FH 16 (08/93-12/02)

MEYLE AG - www.meyle.com

Reinforced Version
Replace in pairs only
Rear Axle

32

380

40

M24X1,5

M24X1,5

Coupling Rod

Steel

21119067

Volvo FM (09/05--)
Volvo FMX (04/10--)

Reinforced Version
Replace in pairs only
Rear Axle

32

350

40

M24X1,5

M24X1,5

Coupling Rod

Steel

21287063

Volvo FM (09/05--)
Volvo FMX (04/10--)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

Suspension

NEALGE N

534035 0007/HD
MSL0906HD

534035 0008/HD
MSL0907HD

66


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Size

References
Opel

Application info

Chevrolet Malibu IV (01/12--)
Opel Insignia (07/08--)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
GENERAL MOTORS

Opel

Vauxhall

Application info

Opel Astra G / Zafira A (02/98-12/09)
Opel Astra H / Zafira B (02/04-11/04)
Opel Meriva B (06/10--)

Vauxhall Astra Mk I (09/84-08/93)
Vauxhall Astra Mk IV (02/98-08/06)

MEYLE AG - www.meyle.com

Suspension
New Items

616 060 0023
MSL0692

Rear Axle Left
Rear Axle Right
71,5

10x1,5
Coupling Rod

13281792

Vauxhall Insigna (07/08-09/13)

616 060 0028
MSL0879

Front Axle Left

Front Axle Right

300

M12X1,5

M12X1,5

Coupling Rod

Steel

with spanner attachment

13327928
90498745
13169439
350176
350611
350614
350176
350611
350614

Vauxhall Astra Mk V (01/04-11/11)
Vauxhall Meriva Mk Il (06/10--)
Vauxhall Zafira Mk | (11/98-08/05)
Vauxhall Zafira Mk Il (04/05--)

67

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
Fiat

GENERAL MOTORS
Opel

Saab
Vauxhall

Application info

Fiat Croma Il (06/05--)
Opel Vectra C/ Signum (04/02-09/08)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

GENERAL MOTORS
Opel
Vauxhall

Application info

Opel Corsa D (07/06--)
Vauxhall Combo Mk IIl (07/06--)

MEYLE AG - www.meyle.com

Front Axle Left

Front Axle Right

354

M12X1,5

M12X1,5

Coupling Rod

with spanner attachment

51741130
51803183
13237130
24417251
350603
350615
24417251
350603
350615

Front Axle Left

Front Axle Right

301

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

55700753
350616
350616

Suspension
New Items

616 060 0029
MSL0880

Saab 9-3 (YS3F) (09/02--)
Vauxhall Vectra Mk Il / Signum (01/00-10/08)

616 060 0030
MSL0881

Vauxhall Corsa Mk IIl (07/06-03/12)

68

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Ford
Ford (Chanagan)
Jaguar

Application info

Ford Mondeo Il (11/00-08/07)
Ford (Chanagan) Mondeo | (05/03--)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
Ford

Ford (Chanagan)
Mazda

Renault

Volvo

Application info

Ford C-Max | (02/07--)
Ford C-Max Il (12/10--)
Ford Focus Il (10/03-09/08)
Ford Focus Il (07/10--)
Ford Kuga (03/08--)

Ford Kuga Il (01/13--)

Ford Tourneo (12/12--)
Ford Transit 13 (09/13--)

Ford (Chanagan) Focus | (09/05-12/11)

MEYLE AG - www.meyle.com

Front Axle Left

Front Axle Right

250

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

1117698
1571-3B438-BA
(C2539552

Front Axle Left

Front Axle Right

298

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

1230909

1686 594
1762149
3M51-3B438-AC
3M51-3B438-AB
BP4K-34-170D
546180001R
31340273

Suspension
New Items
716 060 0031
MSL0885
Jaguar X-Type (06/01-12/09)
716 060 0032
MSL0886
Mazda 3 (BK) (06/00-06/09)
Mazda 5 (CR) (02/05--)
Mazda 5 (CW) (09/10--)
Renault Laguna Ill / Coupe / Grandtour (10/07--)
Volvo C30 (10/06-12/12)
Volvo C70 11 (03/06--)
Volvo S40 11/ V50 (01/04--)
Volvo V40 Il (03/12--)
69

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

|| o
NEVALE

ore . 716 060 0034
Stabilizer link MSLos8s
Notes

Front Axle Left
Front Axle Right
Length [mm] 238
Thread Measurement 1 M10x1,5
Thread Measurement 2 M10x1,5
Coupling Rod
with spanner attachment
References
Ford 1106 269
6960 036
Application info
Ford Cougar (08/98-12/01) Ford Mondeo |, 11 (01/93-11/00)

e: . 716 060 0035
Stabilizer link MSL0850
Notes

Rear Axle Left
Rear Axle Right
Length [mm] 255
Thread Measurement 1 M10x1,5
Thread Measurement 2 M10x1,5
Coupling Rod
with spanner attachment
References
Ford 1127 648
Application info
Ford Mondeo Il (11/00-08/07)
MEYLE AG - www.meyle.com 70

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
Ford

Mazda

Application info

Ford Fiesta V / Fusion (11/01-06/08)
Ford Maverick Il (02/01--)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

Ford
Ford (Chanagan)

Volvo
Volvo (Changan)

Application info

Ford Galaxy Il (05/06--)
Ford Mondeo IV (03/07--)
Ford S-Max (05/06--)

Ford (Chanagan) Mondeo Il (09/07--)

Ford (Chanagan) S-Max | (01/07--)
Volvo S60 Il / V60 (04/10-04/12)

MEYLE AG - www.meyle.com

Front Axle Left

Front Axle Right

284

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

2561-3B438-AE
1761200
5152208
71.84-5K483-AC
DD32-34-170

Front Axle Left

Front Axle Right

300

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

1377 849
30648461
6G9N-3B438-BA
30648461
30648461

Suspension
NEVALE
716 060 0036
MSL0890
Mazda 2 (DY) (02/03--)
716 060 0038
MSL0892
Volvo S80 Il (03/06--)
Volvo V70 Il (08/07--)
Volvo XC60 (05/08-12/10)
Volvo XC70 Il (08/07--)
Volvo (Changan) S80L (03/09--)
71

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
Ford

Ford (Chanagan)
Mazda

Application info

Ford Escort V, VI, VIl / Orion 11l (07/90-06/01)
Ford Fiesta Ill (01/89-01/97)

Ford Fiesta IV / Puma (08/95-06/02)

Ford Focus | (10/98-03/05)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
Ford

Mazda

Application info

Ford B-MAX (10/12--)
Ford Ecosport (04/04-09/07)
Ford Fiesta VI (06/08--)

MEYLE AG - www.meyle.com

Front Axle Left

Front Axle Right

238

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

1130273
1209035

1471 446
YS41-3B438-BB
1561-3B438-AA
1E01-34-170A

Front Axle Left

Front Axle Right

250

M10x1,5

M10x1,5

Coupling Rod

with spanner attachment

8V51-3B438-BA
8V51-3B438-BB
D651-34-170

Suspension
NEVALE
716 060 0040
MSL0894
Ford KA 1(09/96-11/08)
Ford (Chanagan) Fiesta | (03/03-06/06)
Mazda 121 (JASM, JBSM) (03/96-04/03)
716 060 0042
MSL0896
Ford Tourneo (12/12--)
Ford Transit Courier (02/14--)
Mazda 2 (DE) (10/07--)
72

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Suspension

NEALGE N

Strut mount 100412 1048

MSMO0241

Notes

Front Axle

Piece

Rubber-metal Bearing

without ball bearing
References
Audi 4F0412377D
Audi (FAW) 4F0412377D

L4F0412377D

Application info

Audi A6 (4F2, 4FH, 4F5) (05/04-08/11) Audi (FAW) A6L Stufenheck (C7) (01/12--)
Audi (FAW) A6L (C6) (03/05-12/11)

Strut mount 100 741 1002

MSM0236
Notes
Rear Axle left and right
without ball bearing
References
Audi 4G0513353D
Application info
Audi A6 (4G2, 4G5, C7) (11/10-05/13) Audi A7 Sportback (4GA) (10/10--)
3003133126
Strut mount MSM0237
Notes
Rear Axle left and right
Piece
Rubber-metal Bearing
without ball bearing
References
BMW 33506781682
Application info
BMW 5 (F07) (10/09-12/10) BMW 5 (F10, F11) (03/10-12/11)
MEYLE AG - www.meyle.com 73

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Strut mount

Notes

References
BMW

Application info

BMW 5 (F07) (10/09-12/10)
BMW 5 (F10, F11) (03/10-12/11)

Strut mount

Notes

References
BMW

Application info
BMW 5 (F10, F11) (03/10-12/11)

Strut mount

Notes

References
BMW

Application info
BMW 5 (F10, F11) (03/10-12/11)

MEYLE AG - www.meyle.com

Front Axle left and right
Piece

Rubber-metal Bearing
without ball bearing

31306795082

Front Axle left and right
Piece

Rubber-metal Bearing
without ball bearing

31306863 297

Rear Axle left and right
Piece

Rubber-metal Bearing
without ball bearing

33506863303

Suspension
New Items

3003133136
MSM0238

BMW 6 (F12, F13) (11/10-12/12)

3003133153
MSM0239

3003133154
MSM0240

74

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Strut mount

Notes

References
BMW

Application info
Mini Mini | (06/01-11/07)

Strut mount bearing

Notes

References

Porsche

Application info

Porsche 911 (997) (07/04-12/10)
Porsche Boxster (987) (11/04-12/11)

Wheel bearing kit

Notes

Height [mm]
Inner diameter [mm]
Outer diameter [mm]

References
Fiat

GENERAL MOTORS

Opel

Vauxhall

Application info

Fiat 500L (09/12--)

Fiat Bravo (198) (11/06-12/08)
Fiat Doblo (263) (02/10--)

Fiat Stilo (10/01-08/08)

MEYLE AG - www.meyle.com

Front Axle left and right
Piece

Rubber-metal Bearing
with ball bearing

31306778833

Front Axle

996 343 51505

Front Axle left and right
37

37

74

for vehicles with ABS
with add-on material

46836196
71753820
92403013
95511623
95513921
328011
328023
328011
328023

Suspension
New Items

314 641 1002
MSM0242

Mini Mini Il (10/06-07/10)

414 641 0002
MMB0029

Porsche Cayman (11/05--)

614 650 0004
MWKO0230
Lancia Delta Ill (08/08--)
Opel Combo D (02/12--)
Vauxhall Combo Mk IIl (07/06--)
75

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Wheel bearing kit

Notes

Height [mm]
Inner diameter [mm]
Outer diameter [mm]

References

GENERAL MOTORS
Opel

Suzuki

Vauxhall

Application info

Opel Agila B (04/08--)
Suzuki Splash (01/08--)

Wheel hub

Notes

Rim Hole Number

References

Peugeot

Application info

Peugeot 407 (05/04-12/09)

Wheel hub

Notes

Bolt Hole Circle @ [mm]
Inner diameter 1 [mm]
Outer diameter [mm)]
Rim Hole Number

References
BMW

Application info

BMW 1 (F20, F21) (11/10--)
BMW 2 (F22,F23) (10/13--)
BMW 2 (F45, F46) (09/14--)

MEYLE AG - www.meyle.com

Suspension
New Items

614750 0002
MWK0231

Rear Axle left and right
44

28

58

with add-on material

95507796
47 11556
46860-62J01
47 11556

Suzuki Swift Il (02/05--)
Vauxhall Agila Mk 11 (01/08--)

11-14752 0003
MWH0259

Rear Axle left and right

5

with add-on material

with integrated wheel bearing

3748.89

Peugeot RCZ (03/10--)

300652 0002
MWH0258

Front Axle left and right

108

90

147

5

Four-point mounting

with add-on material

with integrated wheel bearing

31206867 256
31206794850
31206857 230

BMW 3 (F30, F31) (10/11--)
BMW 3 (F34) (03/13--)
BMW 4 (F32, F33, F36) (07/13-)

76

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Suspension

NEVALE
300752 0007
Wheel hub WHO257
Notes
Rear Axle left and right
Inner diameter [mm] 49
Number of Holes 4
Outer diameter [mm] 95

with add-on material
with integrated wheel bearing

References

BMW 33406850159
33416775021

Application info

BMW 5 (F07) (10/09-12/10) BMW 6 (F12,F13) (11/10-12/12)
BMW 5 (F10, F11) (03/10-12/11)

7147500019
Wheel hub MWH0260
Notes
Rear Axle left and right
Outer diameter [mm] 131
Rim Hole Number 4

with add-on material
with integrated wheel bearing
with wheel studs

References
Ford 1870089
1754122
1768073
ACP1-2C299-C1A
Application info
Ford B-MAX (10/12--) Ford Tourneo (12/12--)
Ford Ecosport (04/04-09/07) Ford Transit Courier (02/14--)
MEYLE AG - www.meyle.com 77

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

